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Why was the system of Law

known as Equity created ?

(A) To supliment and modify the
Injustice of the Common
Law

(B) To provide a quicker system
of Justice

(C) To reform the Law

(D) To allow the recognition of
Trust

What was the significance of the

Earl of Oxfored’s case ?

(A) The case resolved the
ongoing battle for authority
between Church and the
State

(B) The case established the
principle that where equity
and the common law conflict,
equity prevails

(C) Both (A) and (B)

(D) None of the above

Which Act was responsible for

unitying the administration of the

Courts of Equity and the Common

Law Courts ?

(A) The Supreme Court Act

(B) Provisions of Oxford

(C) The Statute of West minister

(D) The Judicature Act 1873-75

Which of the following statements

best describe the function of

Equity ?

(A) Equity intervenes to prevent
handships which arise from
the strict application of
common law rules

(B) In general equity tends to pay
closer attention the fact of
individual case

(C) Both (A) and (B)

(D) None of the above
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The case of Penn Vs Lord 5. T g9H e §lecR B Al
Baltimore  demonstrates which ffeied # & 59 afRg® 93 @
equitable maxim ? yefd HRar € ? |
(A) Equity looks to intent, not (A) NI WU DI TE AR PO
form g
(B) Equity acts in personam (B) ¥® gﬁ foar afed @ W
(C) He who comes to equity must [ :
come with clean hands © Art Efﬁ ?;Tmﬁ mﬁ E @l
(D) Equity follows the law (D) AR W W3
The equitable maxim “He who 6. T a1 H - TR D e H
seeks equity must do equity” deals el B W A IR @ FIER He
with what type of behaviour ? Ry g e & AG@R ¥ g
(A) The future behaviour of the g7
claimant (A) %‘cn B el D HIAH & AR
(B) The past behaviour of the
claimant (B) < a?;[ ﬂ_;gﬁ N R KPle R
(C) The future behaviour of the S ; )
parties o Emai% W@ﬂﬂzﬁ 3
D STROT
(D) The past behaviour of the (D) deil i
defendant
Complete the maxim “Equity 7. A 2l E{US[ HRY —
s P g
(A) Fairne.ss (A) BRI
E(lé; }Jqutl-ahty (B) gadferdl
ustice A
(D) Reasonability ©
(D) Rerifafere
The Judicature Acts- 1873-75 8. frafaea & 9 o <o ¥
provide equitable remedies from \—gﬁzﬁa-\y Tde —1873—1875 ERT AIH
which of the following Courts ? SUER Y fohar orar o ?
(A) Common Law Courts (A) B o 1o
(B) The Chancery Courts .
B) T IRl BICH
(C) The House of Lords (B) < o .
(D) All of above (€) < eSd &M e <
(D) SWad T 4
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9.  The maxim that “delay defeats 9. “fIeT AR BRI $l & G
equity” express which doctrine ? ford RigrT & &ad axar 8 ?
(A) The doctrine of luckies (A) ITHRU T Rigrd
(B) The doctrine of leeches (B) TRId! T Rigr=
(C) The doctrine of laches (C) 3 1 Rigr
(D) The doctrine of catches (D) REIEICIR
10. Jeremy  Bentham’s  Principle  10. Sl 9°M & g “qgoq gE@R” W
‘greatest happiness” based on : 3MRA B
(A) Principle of Utility (A) ST & RigMd
(B) Principle of Equity (B) =i g ﬁ"?'_d W
(C) Principle of Equality (C) AN & g W
(D) Principle of Justice (D) ® frgra W
11.  Which of the following is not an  11. fy=forad & 9 @9 wifue STaR &
equitable remedy ? g7
(A) Injunction (A) EIE
(B) Damages (B) Hﬁtﬂ%‘f
(C) Specific performance (C) faftre Agdlett
(D) None of the above (D) SR # § 3T Tl
12.  What is the purpose of the Equity? 12, <RI T Se R 8 ?
nd mollify th
™ nfustices ‘of the. Common (A) W A B S B T
o %aw . N AR I R 79 AN Gl
rnati
® s;steizocjfl Leawan Aemative B) fofr woieht & fawey & w0
(C) To allow for the recognition (C) Y & "I B ST R BT
of Trusts
(D) To provide a quicker system (D) =1 I Tl JOTell SYeTel BRIl
of Justice
13. Which of the following is not an  13. F=ferad # ¥ &F ARG G Tal 87
equitable maxim ? (A) IR {6 TS 4 qUER f9gH
(A) Equity will not suffer a Tel vg <Y
wrong without a remedy (B) 91 @ fhar wfdd | W
(B) Equity acts on personam IGdT 2
(C) Equity sees as done that (C) 9 S fhar ST =nfed S @
which ought to be done fooar Tar 99 @
(D) Equity looks to form, not (D) 9= WU B G T AT B
intent T8
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14.  Which of the following make up  14. fy=foRad & 4 B9 O FIGAG 97
the Three Certainties ? 37
(A) Certainty of  intention, ' .
purpose and subject (A) SRy, SESICIERRICII LI
(B) Certainty of Trust, intention (B) TV, 3N 3R Ie3T B FHIGATY
and purpose C) S, fiw &Rk fowam @
(C) Certainty of object, subject © .
and confidence SHIENIN
(D) Certainty of intention, subject (D) 3N, fauy iR SeIT A1 FWIGATY
and object _
15.  Which of the following is not a 15.  f=fafad § 9 &9 “&WF o I B
meaning of the term “Common e TS g ?
Law” ? (A) 7M. 9 e rmier fafy
(A) The body of Law as made by g 3
Judges though the ) >
determination cases (B) Wﬁﬁ? fafer forr e
(B) A Legal System that is based m
on that of England (C) wwe gr fafr & fapa
(C) Law created by Parliament Sl &
(D) None of the above (D) SRITT H | DIE el
16.  Which of the following countries 16. fr=fofed & 9 @9 A1 < M o
does not have a Common Law fafS gomel ariRa =&} @ear ?
Legal System ? (A) RIS
(A) England
B) 4 ?ﬁ o
(B) Australia EC; T
(C) U.S.A. ?1.. .
(D) France (D) »r
17.  Statute Law refers to : 17.  wfafe fafer dehia o &
(A) Law created by judges (A) A § f@ W f g
through the deciding of cases <Jrmedier Rt &1 e e ©
(B) To mitigate the harshness of (B) @I @ ENI e e
the common law by deciding SO @R @ AR e
cases based on fairness and 5 3 R
equality ER R ¥ Rl
(C) The body of Law regulate g _
relationship between the state (C) fafx NI IqH RS
and its citizens o e o fafrafia fear S
(D) The body of laws creates by 2
Parliament in the form of (D) fafyy d9e gnr foure & wregg 9
legislation T ot @
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18. The phrase “English Legal 18.  Sfaq “aifvet fafer yomelt” &1 omem 2
System” refers to : (A) T 3R I > AR gomeh
(A) Z:de i;:iils System of England B) e e & R T 4
(B) The Legal System of England © §T0IUS, dod 3R ThIClvs @I fafer
only el
(C) The Legal System of D) W A & AR e &
England, Wales and Scotland
(D) The Legal System of United
Kingdom
19.  Which equitable maxim would be ~ 19. F=feilad § ¥ &F @1 ARG T
applicable in Highway man case ? qCARI & 978 H Wga fobar T ?
(A) Those who seek equity must (A) ST B e HYT ATl Dl I
do equity Al TR BT AIER HRAT AT
(B) Equity treats as done that (B) RIS fam ST ARy ST Bl
which out to be done far a1 qee) @
(C) Equity will not assist a (C) @I I or | B e i e )
volunteer IIIRar St &
(D) Those who come to equity (D) |RT @ IR ¥ AN ae @
must come with clean hand frfer greli § o TTRU
20. If there is one principle of Equity — 20. 3Jfe 9= & WM & f{f@"ﬁ‘ﬂ kil
that can be said to be of most Rrgrdl @ <@ 919 @1 = st%uj
significant to its operation and g
indeed its existence it 1s :
(A) Equity is triggered by (A) ST T g1 SSRA @
unconscionability (B) R Rl U & {97 SHAR
(B) Equity will not suffer a Te1 & <l
wrong without a remedy (C) W Rwg o] @ 2 Uy
(C) Equity looks to substance -
rather than form
(D) Equity follows the law (D) T A T S il
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21.  Which of the following best 21. f=foRad ¥ ¥ o9 Afe SwRI &
describes the nature of Equitable 1;@{%{ D SEN T § WC P IE & 7
remedies ? (A) d %ad 981 QY S § Sl M
(A) They are only granted where T SR T 3
a common law remedy would ®) 3 Eﬂ?f%lﬁ: R
also be due

(B) They are discretionary in FTH A SR @ A T
nature and depend upon the T R R o §
availability and adequacy of (C) 9 PR THY Y& BT il 8
common law remedies (D) SWRIGT H F BIg el

(C) They are awarded as a right

(D) None of above

22.  Which one of the following is false ~ 22.  WIftge ufdex & wed & fy=faiag
in the context of Equitable P
compensation ?

(A) Delay defeats equity (A) fdermg A ol WIS &RelT 8
(B) The Ilimitation period of a (B) wifge gfaax F <9 P e @)
claim for equitable
compensation can be T FER Tl &
extended (C) Ifrga e afer R @
©) Reasonable. foreseeat.)il.ity isa W e D e it
key factor in determining the
level of loss that can be RIS
compensated (D) SRIFT H A IS T2
(D) None of the above

23.  Why did the system of Law known  23.  faff yomell # &9 W1 SIran ® fob
as Equity come into existence ? a1 3R & ?

(A) To supliment and modify the (A) B @l ¥ =g B ITRS Td
?justices of the Common G @ forv Ree & w9 ¥

aw

(B) To provide a small claims B) = q_lql IR B S
court (C) fafy  guR

(C) To reform the law (D) SHIET H § PIE Tl

(D) None of the above
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24.  The Primary Source of Equity is : 24. R @1 UG WG €
(A) Custom (A) eI
(B) Written law (B) foriad fafdy
(C) Judicial decisions ©) = oty
(D) Conscience (D) T/ ﬂ’c{fﬁé’cﬁ
25.  English rule of equity have been : 25. R w41 oie fafy @
(A) Substantially incorporated by (A) MR QUi gRT d! 8
the Indian Legislature TP T AT B
(B) Partially incorporated by the (B) RS REFRiGT gR1 v 7
Indian Legislation ST AT
C) Wholly incorporated by the
© Indian Legislation (C) Weir fae &Nl W
(D) None of the above T SR AT &
(D) SR § | B T2l
26. In case of conflict between equity  26. faffie Jowfa vd A= & </ wawg o
and the text of Law the Court shall Rfd & <ITed gRT SYFRIT SR
choose : (A) 9T BT
(A) Equity B) RfE wh 31
(B) Text of Law ©) o Rk S YW A
(C) Have the discretion to choose _
between equity and Law fafs W a W_
(D) None of the above (D) SR # § 3T Tl
27.  Who defined “equity as the spirit ~ 27. "=y 99 fafty @ uror vd areRr
and soul of all Laws” ? foras gRaia o -
(A) Blackstone (A) TP
(B) Plato (B) o
(C) Metland © O
(D) Austine
(D) 3mRed
28.  Equity courts could be 28, AW I Dl qu SR
approached: (A) ARBR & FHA H
(A) As a matter of Right (B) 9wy & A |
(B) As a matter of Property ©) SRITE <R (A) e (B)
(C) Both (A) and (B) D) S N W B
(D) None of the above
Series-A LL.B604/ 393 Page - 9



29.  What is the meaning of the word  29. OTRIT ¥ &l U1 37 & ?
‘Equity’ ? (A) faftre M|l & srarg JRad o
(A) The ability to  make &1 gAdr
exceptions to the legal rules (B) TR P ER ReRE R &
(B) The body of Law developed
by the Court of Chancery A
(C) Fairness (©) FIM
(D) None of the above (D) SHRIET H § P Tl
30. How did the lord chancellor 30. dTe dFHeR &4 U IRARE dF fHd
become a Judge ? HeEn g ?
(A) He dealt with petitions in the (A) V9 T IO BT aiferemelt @
King R v &
(B) He administered the court (B) 4 d SRl YoTell &1 Y9I+
system P &
(C) He issued writs (C) & 9 Re IR &= &
(D) None of the above (D) SR & F Pg 81
31.  What is the importance of the Earl ~ 31. ‘3/c] 3% 3MIBlS & HHcl BT &I
of Oxford’s Case (1615) ? A g ?
(A) It established the fraud would (A) AMe ® wfid fen m f due
no longer AN MY TF ol fed Adbdl
(B) It developed the use of (B) TOH Y & WM Bl faeRid
Injunction fopar T
(C) It showed the power of King (C) I8 T & Ufdd BT USRI e
(D) It established that equity 2
prevailed over the Common (D) =@ i fear w6 amn
Law I off T T B
32.  What is the importance of Lord  32. oIS Uced &l T 98T & 7
Eldon ? (A) oW THI TF oS aer o
(A) He was Lord Chancellor for a (B) S=iF Wil fafy yomen @1 venfud
long time foar R 9= @ 99 9 9
(B) He established the system of STaT &
Law known as equity (C) S=H 9WI H U & YoTel!
(C) He established a system of 37 fomlRa far
precedent in equity (D) SRIGT H I Pl Tel
(D) None of the above
Series-A LL.B604/ 393 Page - 10



33.  Which of the following case 33. fy=foRed § & @9 9 AW AT
related to maxim “Equity follows fafer @ SR Hw B el ki
the Law” ? TR € 7
(A) Stickland Vs Aldridge (A) Redholvs 97 3‘||(~r§(\|\)‘|
(B) Appa Narsappa Magdum Vs (B) 3r@r TR TSy 9919 3@;@:?[
Akubani Ganpati Nimbalkar G INBGLRIRE N
(C) Both (A) and (B) (C) ST (A) 3R (B)
(D) None of the above (D) SRIGT H F Pl Tel
34, Which of the following are the 34. fy=foRad § 9 @9 "9 W=y 98T ©
examples of the maxim “He who S AR HRAT G SERCIRSHIS]
seeks Equity must do Equity” ? 2
(A) Doctrine of Election (A) I & g
(B) Equitable estoppel (B) ™% fdewe
(C) Set-off (C) ﬂ\—,rﬂ-sf
(D) All of the above (D) SWIa I
35. The Judicial remedies developed 35. WM @K §R eR-VII & WG H
by Court of equity at a time of fapfyd =1fie SR e &
Henry VIII are called : (A) R ITER
(A) Legal remedy (B) WIfE STAR
(B) Equitable remedy
(C) Extra-Judicial remedy © W_W SR
(D) All of the above (D) SR T
36.  Which of the following are the 36. fy=folRad & ¥ @9 AfRI® STAR &
examples of Equitable remedies ? IS & ?
(A) Specific performance (A) faRre 3T
(B) Issuing injunction (B) ST T T
Appointment of receiver
EIC); Aflpof the above (©) v @ ﬁgﬁﬂ
(D) SWIa ol
37.  When did the Indian Trust Act 37. 9RO I AMWFIH 1882 B9 Yd H
1882, come into force ? 3T ?
(A) 01 April 1882 (A) 01 el 1882
(B) 01 March 1882 B) of TS 1882
(C) 23 April 1882
(D) 23 March 1882 © 2 I 1882
(D) 23 W 1882
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38.  Which Section of Indian Trust Act  38. IR << WM @1 o A g
deals with the who may be fearfafdey o 2 ¥ gHfRd g ?
beneficiary ? (A) ERI—09
(A) Sec. 09 (B) HR—12
(B) Sec. 12 -

(C) Sec. 14 (C) Em=14
(D) Sec. 20 (D) 8N-20 |

39.  Which of the following Section of  39. faie &9 ael 99kl & 9=y A
Indian Trust Act-1882 deals with MRAY < IS a9—1882 &1 dF O
the conversion perishable RT 91 P & 7
property? (A) HR—13
(A) Sec. 13 -

(B) Scc. 14 (B) HRT—14
(C) Sec. 16 (C) HN—16
(D) Sec. 18 (D) HR-18
40. Sec. 25 of the Indian Trust Act  40. WRdI =9 IMETIH—1882 @I GRI—25
1882 deals with : THERIT B
(A) Right of title-deed (A) WAa-fdog & ARFR
(B) Non-liability for (B) Yl @ T & fom
predecessor’s default TR I

(C) Trustee cannot renounce after (C) =gred], ¥ P d @ TRE 99D
acceptance AR T8l IR AHcT B

(D) Sale by trustee directed to sell (D) = gR1 FufRd 91 & oW
within the specified time fasha &1 fwreH %@

41.  Section 34 of the Indian Trust Act 41, HRA <IN ITEIH—1882 B TRI-34
1882 provides : IO PRl ©
(A) Trus.tee may not change for (A) IRl Jarelt & o GUGIE] CRl

services S T
(B) Indemnity of trustees <Y Tf%lfﬁ"f
(C) Right to apply to court for (B) EE; & % e B R
opinion in management of (€) ~a HeH
Trust property RIRICREE ég SICEE |
(D) None of the above CIBCAR _ _
(D) SWIE ¥ ¥ B Tl

42.  Which Section of Indian Trust Act  42. fy=forlRaq & ¥ 9RO =9 ARIH
1882 deals with Trust of moveable 1882 @ BN W YN dd Td 3
and immovable property ? FHRT @1 91T Rl B °
(A) Section-04 (A) HR—-04
(B) Section-05 (B) HRI—05
(C) Section-07 (C) ERF07
(D) Section-09 (D) ER—09
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43.  Who may create trust which  43. ¥RdX \am? AT 1882 DI DI Al
Section of Indian Trust Act 1882 URT "B AN B TEA GR Ahal 8
deals ? @] IR IRAT © ?

(A) Section-04 (A) ER—04

(B) Section-05 (2) ig:gi

(C) Section-07 ED% RT—09

(D) Section-09

44, gecfion-. lﬁl of Indian Trust Act 44. ¥RAY <gGg &OFTA & gN-—14

eals with : TS ¥ &

(A) Lawful purpose N Tﬂﬁ@ ? '

(B) Conversion of perishable (A)
property _ (B) AN GHRT & FERA _

(C) Trustee not to be set up title (C) IR TN B ANEIRA B
adverse to beneficiary i avem T8 Y g

(D) Investment of Trust money (D) = & 3 B ;

45.  Who hold the equitable interest in  45.  Up I ¥ GRS 20 D GIRT IR § ?
a trust ? Ao
(A) The beneficiaries (A) >
(B) The trustees (B) ~
(C) The settlor (C) FIRIUD
(D) None of the above (D) SWRITd H F I3 ol

46. In the case of Twinsectra Vs  46. CfdTdagT 99 Tredl (2002) U 4 164
Yardley (2002) AC 164, What was P T | TR MR fobd a1 1 ot ?
the main objection ? (A) U T Gfder 2N I I
(A) A loan is a contract and does T e 8 g

not involve a trust TR ey

(B) A private trust cannot be for a (B) TP T Uik o i
purpose, it must  be N o], SHD! TgdT
identifiable beneficiaries SAE _gf SBT3 Bl 8

(C) The parties did not intend to (€) TP NEEI MO I I IR
create a trust I

(D) None of the above (D) SR H ¥ Pls Tl

47.  Why \ivas 1tlhere a proprietary  47. IR 9 HoR H Wi fdewe @y o ?
estoppel in Thorner Vs Major ? St : =he
(A) Because Thorner acted to his (&) IR FH S ford

detriment S IR @ oA

(B) Because reliance could be (B) ifd IR W R wET o,
proved in Thorner but not in f T
Yeoman’s R . _

(C) Because there was a (C) Fifd 98l a1 o)A diedl gN
prenadon |t ot S e 91 ot 4 <
interest in land in Thorner, fopar T o H el
but not in Yeoman’s (D) SR H ¥ Pls Tl

(D) None of the above
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48.  The first category of constructive  48. WIS 9 IS & AT H Y it
trust in Leoyds Vs Rosset case, the Bl TS I BT NN ITRT o -
agreement based on : (A) TS & 79 W i & J1ed
(A) Evidence of express o
discussion  between  the B) ® R W
couple o

(B) Inferred from the couple’s TAGER T HF Fepretl T
whole course of dealing in (C) ol F JER R A G
relation to the house ffofer fobar o

(C) Decided by the Court on the (D) SWRIT H ¥ BIg Tal
basis of fairness

(D) None of the above
49.  According to Stack Vs Dowden 49. W& M SSed (2007) 2 TN 432 &
(2007) 2AC 432 it the couple hold IR VE] Wl gRI W IGIBED
the legal estate jointly the Court : iy aiRa frar T & 9=t =TTy
(A) Must examine the whole (A) SR 3T 5 B éﬁ
course of dealing to find :

o GAGRR & YOf AN @ e

common 1ntention

(B) Must presume that there is Al _
also joint beneficial (B) SwRd &% o o g W
ownership PR X1 ot

(C) Has discretion to award fair (C) ST FEl fowd 3 He H 3T
shares fad® BT YT B

(D) None of the above (D) SR § ¥ BIg T8

50.  Which of the following would bea  50. fo=ifeiiad & 9 &9 fafde @udl <
valid charitable trust ? 27
(A) A trust to educate my (A) FEfEl o1 Rifdd dx aren =

relatives (B) o BT @ oaffe SR
(B) A rust to preach to my N
. Al =g =
relatives :
(C) A trust to care for my sick © I R R Bl e @
relatives ferd e
(D) A trust to relieve the poverty (D) 3 RedeRt & Tt N ¥ D
of my relatives ford e =
Series-A LL.B604/ 393 Page - 14



51.  Which of the following would not ~ 51. fy=fafad & 9 &9 O W <™
quality as a charitable trust for the &P IV b I P o wfud
aivarj:ement of education ? I P w9 § SRIg T8 § ?

trust t t
(A) rust  to  promote (A) [ B W BR el
archaeology <
(B) A trust to promote nuclear Ao & o
disarmament (B) wHI]
(C) A trust to establish an art st dietl =i
galley (C) Do g &= arel I
(D) None of the above (D) SR H | PIE 7ol

52.  Why was “Sport” not traditionally ~ 52. @I Wol B WERNG ®U H @RI ATl
regarded as charitable ? T ST & 7
A) B t all of rt N : :
(A) Because .no all of sports (A) el gl B T I

benefit children
(B) Because no sport could be &

open to all (B) e ol |99 ford @ﬁ Tl 2
(C) Because it was not possible to (C) TNfb I8 folg oo wva T2

decide which sports were for B T T dAplRg § 2

the public benefit :

P , (D) ®Nfb Wl Th SAEH fhar el

(D) Because sports is  not

productive activities §

53. In a mutual will, the consideration 53.  U® JqUAT SOUF ¥ dfaer @1 ufawe
for the contract is : g
(A) The couple promising not to (A) WISl ERT U gE@l @

revoke there will W T T
(B) 3;,};1615 couple making mirror (B) SR BRI TF T 59T T o
(C) The couple leaving property (©) SIS ERT @ W % fere e
to each other F1 IR ! _
(D) None of the above (D) SWIE H | IS el

54.  Anessential element of ‘Death bed ~ 54. g IAT T BT AAIS q<d T 87
gift’ is : A R & A @ arll @
(A) The handover of the front (A) 3

door key of the house TRE
(B) The handover of the (B) TR & deol Bl RS
possession of the house C) W P W fierd o7 TR
(C) The handover of the title © ,
deeds of the house (D) SWIFT # ¥ BIg Tl
(D) None of the above
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55. To make defendant liable as a 55.  Ufa @ ANEe RN @& w9 H
constructive trustee, it must be Serl g9 & for ufqardl g1 I8
proved that the defendant : AT o1 81 6 98
(A) Had actual knowledge that (A) = GORT @1 eRd A o

would ~ make - it SR L I B B
unconscionable to retain the ;
trust property gn—r[

(B) Shut his eyes to the fact that (B) dd d& T <9 TR W9 S
he was receiving trust N T Efﬁ_ Ry RO fobar o
property in breach of trust (©) SR QM1 (A)Gﬁ'\’ (B)

(C) Both (A) and (B) (D) WA # ¥ BIg el

(D) None of the above

56. Which of the following 56. fy=ifeiRad & ¥ & W o I I
propositions is always true : 3
(A) The trustee hold legal title to

the trust property (A) =R = R @ e ww

(B) The trustee 1is not a eTRT HRaT B
beneficiary of the own trust (B) =i AW T P RaReR TS

(C) A trustee is never the
absolute owner of trust BT
property (C) IRl = FHf @1 Bl o gof

(D) None of the above W TS A

(D) SR H ¥ Blg Tel

57. Which of the following 57. fr=fafed & ¥ o9 W uRRufTf
circumstances is likely to defeat an fdaTd g B WIS ol & 7
in personam claim ? (A) wlard) & 9
(g) ?;e degeidagt Stfleath 1 (B) RN &1 @rferTa Rarforme
®) inseolvenec;n ants  persona (C) TTa1 S dren foodl @fdaa g1
(C) The claimant has suffered no i 1T &

personal injury (D) FfETT T B ?

(D) The defendant is a company

58. Who among the following cannot 58. fym=fafed # 9 o9 RaRer =& =
become beneficiary ? Hhdr ?

(A) The Gove@ment (A) TWEHR

((lé) [Canorn (.:hlld (B) ST 11

orporation
D> Al © P
(D) fade
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59.  Which one of the following can  59. fT=faRad & ¥ @ Ud =T BT AT
create trust ? PR FhAT & 7
(A) convict (A) cuRig
(B) Lunatic (B) U
(C) Alien (C) feef
(D) Infant (D) fgpl
60. Rights of beneficiaries are 60. fRaReRal & JIReRI @ gaven
provided under which Sections of IRAT I JAfRFRM & {5 arT o @
Indian Trust Act ? T g ?
(A) Section 51 to 65 (A) ©RT — 51 ¥ 65
(B) Section 53 to 67 (B) RT — 53 ¥ 67
(C) Section 55 to 69 (C) ©RT — 55 ¥ 69
(D) Section 57 to 71 (D) &RT — 57 w71
61.  Which one of the following is not  61. U&h =g & 3\ #§ fa=feiRad & 4
necessary for the creation of trust ? I ARG ol © ?
(A) The author of Trust (A) < BT oAEH
(B) Trustee (B) =gt
(C) Legal representative (C) fafere yfafafer
(D) Beneficiary (D) fRafemr
62.  Which of the following Sections of ~ 62. 9RAN I LIH B D A gRT
the Indian Trust Act deals with T & fo <R @7 919 el § 7
liability for breach of trust ? (A) 9RT—20
(A) Section-20 (B) RT-21
(B) Section-21 (C) HR-22
(C) Section-22 (D) UR-23
(D) Section-23
63. Who out of the following cannot 63. fam=foRad & ¥ oF Udh g Pl ot
create a trust ? el P Fhdr g ?
(A) A person of 21 years of age (A) 21 99 @I afad
(B) An Advocate (B) Ud oAferaa
(C) A minor (C) TP IS
(D) A Juristic person (D) & RS e
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64.  Who said “Trust is the very centre ~ 64. f&a" &gl o <IRT AT @ Eﬁ?ﬁ?\g
and kernel of Equity ?” 3R gl & ?
(A) Bacon (A) 9%
(B) Story (B) R
(C) Snell (C) ¥
(D) Hanbury (D) N
65. Under which Section of the Trust  65. T IR I9 1882 & fbg o1 H
Act 1882 the definition of the YTAHT DT GRYINT foar a7 8 ?
breach of trust is provide ? (A) gRI-1(d)
(A) Section-1(d) (B) HR-2
(B) Section-2
. (C) 9R-3
(C) Section-3
(D) Section-5 (D) HR=5
66. The trustee has no right to be 66. <R feforlRed § & foda I @l
reimbursed for : T T8 B G
A) The expenses made by him
» for improvement of the (A) % faor @ ford S9e g
property fhd T T B ferg
(B) The expenses reasonably (B) =N I T g—gr IuTiig
necessary to the due ;
administration of trust Jaxae &
(C) The preservation of trust (C) = FHIRT & WReT & forg
property (D) RafEeRal & fRal @1 W &
(D) The protection of rights of fro
beneficiary
67. Who among the following cannot  67. fy=ifoRad & A o =R &1 & Fobar
be trustee unless the personal law W9 de fRaeRal @ afedrg fafd
of the beneficiary allows 3T 3T el od ?
otherwise? (A) Th JTTD
(A) A minor (B) U& faarfed wfean
(B) A married woman (®) ISR AT (A) Iy (B)
(C) Both (A) and (B) (D) SWEd § F B 78
(D) None of the above
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68. Who among the following are not  68.  €RI—60 YR <IN AT & TR
proper person who can administer - @fdd Stg afm . & S
trust. with in ‘Fhe meaning of T BT AGETE T TS ?

Section 60 of Indian Trust Act ?
(A) An alien enemy (A) TP 2 ALK
(B) A person domiciled abroad (B) T faeel afdrar
(C) A person having an interest (C) feafraiRal & f&af S fRa <&
anor;s@ent with that of the e fig
eneficiary
(D) All of the above (D) SR Wl
69. Can a beneficiary transfer his 69. FI RAGRI oo Rl &1 RIMRRe
interest ? TR FHaT B ?
(A) Yes ( A) Ey[
© ony it he s compeen DT
nly if he is competen :
“ coni,ract ’ © e T e
(D) None of the above (D) 3 3k T

70.  According to Section 60 of the 70. WRAY <N ARNTH @& ORI-60 @
Indian Trust Act that beneficiary SR TF I Ry ¥ RaRed &
has right that trust property shall _
be - HRHR B & -

(A) Property protected (A) OF T A WM
(B) Administered by  proper (B) SR &fdd gr1 yewr
person S ey :
(C) Administered by  proper © i &Nl 1l
member of persons (D) SWiE a4l
(D) All of the above

71.  The beneficiary is entitled to have 71. U6 I ¥ RARGIRAT 1 ey Sqa
the intention of theauthor of the 9Gd P yfd Ig vldd Bdr & fo a8
trust specifically exec.uted‘to the I e RafeRat & Rat @
extent of the. beneficiary interest e
the statement is :

(A) 93
(A) True
(B) False (B) _ e
(C) Partly correct (C) Sk W’:ﬁ _
(D) None of the above (D) SWRIT H ¥ Py el
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72. Can a trustee buy or become  72. R Udh <RI <IK] FHNRT Bl B, TEH
mortgage or lessee of the trust IT Yel IR Al 27
property ? (A) il
(A) Yes B) &
(B) No o
(C) Yes, only with the permission (€) ¥ P T e e @
of principle civil court and if Wﬁ W AR A T B, T
the manifestly for the {9 Hect feaframiRal & @ @
advantage of the beneficiary EMECIRIECE]
(D) None of the above (D) SWRIGT H F BIg el
73.  Who among the following has a  73. fy=foRed § 9 @9 = 9wy 9
right to the rents and profits of the femr 3R oM U BRA BT SRR
trust property ? g?
(A) Trustee (A) =il
(B) Author of the trust (B) =N @I ol
(C) Beneficiary (C) fearereany
(D) None of the above (D) SWIH # 3§ D5 Tl
74. The Indian Trust Act does not 74. RGN =9 AT e =™ W KIUN
apply to public trust the statement e} 2] IE P &
1S : (A) T
s o s
alse :
ECi Partly true ©) ¥ W:ﬁ _
(D) None of the above (D) SRIE 7 W Pl Fel
75.  What are the necessary elements 75. UG N B Ted & folU T IMATIS
for constituting a trust ? o Bl & 7
(A) Intention to create a trust (A) =™ CORIGE| %@ XINp
(B) Purpose of the trust (B) I & Ie%d
(C) Beneficiary of trust (C) ¥ & feameer
(D) All of the above (D) SRITd a4
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76.  Can a trust be created by on behalf ~ 76. T U6 JqRH & ol =9 TIfed fobar
of a minor ? ST ghdl & 7
(A) Yes, with the permission of a (A) & AR SERER  wWE drol
civil —court of original AR e ajﬂﬁf o
jurisdiction -
(B) No ) .
(C) Partly true (©) SRt e
(D) None of the above (D) SR DI el
77.  Which Section of the Indian Trust ~ 77. 9RAY U AWTH @ b9 oxT §
Act. Describes the competent T deH SR B gR9ig fhar
person to become trustee ? 2?
(A) Section-9 (A) 9RI-9
(B) Section-10 (B) €RI-10
(C) Section-11 (C) HR—11
(D) Section-12 (D) R—12
78.  To whom Indian Trusts Act shall ~ 78. f&d W WA < ARFIH R Bl
apply ? g ?
(A) Public, private, religious or (A) A%, yIgde, aifid vd g el
charitable organizations W
(B) The law relating to private (B) WUiZdc g Ud ~IRE | qwafid
trust and trustees Ay W
(C) Mutual relations of members (C) 3ifava uRaR F gl B IRy
of an undivided family el W
(D) Ev.ery trust for distribute (D) T sy a0 o I @ oW
prizes
79.  Every trust of which the purpose is  79. UG TN e Se3d ifef® & a8
unlawful is : K
(A) Void (A) I3
(B) Voidable (B) el
(C) Valid but not enforceable ©) e ﬁ’TYl SEEREID
(D) None of the above (D) SHIET H § PIE Tl
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80. When can a trustee be competent 80. v/ I3 R wfaer oA H A € 9’
to contract, to execute a trust ? T I Tfod B Fdbal 27
(A) Itis a public trust (A) IR T TP Ae T 2
(B) Where the trust involves the (B) & = ¥ Rdm oRad @
exercise of discretion . 3
(C) If there are more than one a3 _
trustees © ate A ¥ oo R
(D) None of the above (D) SHIET H § PIE Tl
81. The classification of  trust 81. =N & Had Dl El?f%f Cl SHESIN
according to the nature of the T BT TR &
duties of the trustees ? (A) SR I
(A) Simpile trust B) Rt
(B) Specific trust © SR 3 ) o ®)
(C) Both (A) and (B) _ _
(D) None of the above (D) SR H } Pl T
82. What are the classification of 82. UM & SeW & AR M B
trusts according to their objects ? iR & ?
(A) Private trust (A) o =
(B) Public trust (B) % =
(C) Charitable trust (C) TR T
(D) All of the above (D) SwRIad T
83.  Which of the following is not a 83. fforlRad & & & =g @ fovivar
characteristic of a trust ? T
(A) The beneficiaries give no _
consideration (A) Te el T <
(B) The  beneficiaries  have (B) ffafer) &1 Afererr  AffieR
proprietary rights RIS
(C) The beneficiaries may sell - :
their equitable interests © I WTT fedl o
(D) The  beneficiaries may faspa o\ 2
enforce the trusts against the (D) fRafeR = @ aqucmi 61
settlor RaIeTH T B e
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84.  What 1s the difference between a 84. =T AR AMHTT & T IR ¢ -
trust and Agency : (A) R P e dad ©,
(A) Trustees have a fiduciary feat @1 T8t
®) duty agen}‘i dl(()1 not (B) TR = wORy aiRd T 3
B) Trustees hold trust property, et
Agents do not : il RS i
(C) Trustees must not make (©) 7 : p o "
unauthorized profits, agent SERIRCIRED ?b_\’.l Pl 8
may (D) < q{l W qQ ﬁEEI hl U 21 SE
(D) Trustees may not delegate Tel P Ahdl Sdid 3f¥dhdl B
their duties, Agents may bl &
85. In a trust, which of the following  85. <1 H =<UIRMAT & a9y § & AT HIH
statement does not apply to AN 87 gy ?
trustees ?
ks Zﬁlﬂ\?ﬁ R © GGl
(A) The trustees hold the legal (A) TR &
estate (B) IR Bael AR AR ae
(B) The trustees hold the g
equitable interest only (C) i WTTT IR fafSs Ry
(© The e i el o o &
(D) The trustees pay income to (D) = _ 3 AN B
the beneficiaries T CGI
86.  For which type of property must a  86. {9 UHR & THRT & G907 <IRT H
declaration of trust be proved by foRad wy # g7 =nfey ?
writing ? (A) IR
(A) Shares (B) W FRHR
(B) Contractual rights ©) ‘j‘ﬁ
(C) Land f : :
(D) None of the above (D) 19 PR T
87. Which of the following 87. fy=fafed & & &9 q FIger for
transactions is effective and IR & JHTdl IR Jaa+ig g 7
enforceable without formality ? (A) q;la'ﬁ ¥ e R & =g &
(A) Declaration of trust of a legal o
interest in land (B) U® TAIA® I H TRAGER O
(B) Transaction giving rise to a -
constructive trust 3¢ _
(C) Deposition of an interest (C) g W # fed W SIS
under an existing trust (D) SWIad ¥ A BIg el
(D) None of the above
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88.  Which of the following types of  88. fy=ifoiRad # ¥ foy UBR &1 =19 Mgl
trust is void ? g7
(A) A trust for the invention of a (A) TP T I S T G-It
new Pan-European language T B WIS B B ol ©
(B) A Trust for the purposes (B) Uh Tl AN fIdT SR ld
beneficial to the public fed &
(C) A trust to build a swimming- (C) TP fafics @ frafesar &
pool for the employees of ferg aor et @ ég A
company limited (D) SR DI el
(D) None of the above
89.  What are the essential elements of ~ 89. URUTH < & ATRG TT & ?
resulting trust ? (A) aq:gf Y0
(A) Imperfect d.eclaration (B) o e
(B) Unused residue
(C) Want of consideration (C) i 1 3T
(D) All of the above (D) SR I
90. What are the nature of charitable 90. tﬁ I WA =N Bl EI?% g
trust : (A) AR
(A) Indefiniteness (B) OreR
((lé; i/[eriti)lll‘%i)usness (C) Imeadd
erpetui
ED) Al?i)f they above (D) SR
91.  Who are the parties in a trust ? 91. TP NI H UIHR B 81 & ?
(A) Trustee (A) =IFEIRNI
(B) Testator (B) =Tl
(C) Both (A) and (B) (C) SWE (A) 3R (B)
(D) None of the above (D) SRIGT H F Pl Tel
92.  What are the duties of a trustee : 92.  IRMN & Hd B & ¢
(A) Positive duty (A) e /FhRIcHD TR
(B) Negative duty (B) TORIEG I
(C) Both (A) and (B) (C) SWIF (A) 3R (B)
(D) None of the above (D) SWRIE H 3 PIg T
Series-A LL.B604/ 393 Page - 24



93.  What are the rights of trustees ? 93. IRRINA & 97 ABR B 8 7
(A) Right to title deed (A) W g o1 IRFR
(B) Right to Re-imbursement and (B) ad B Qﬁr{ﬁ SR &Tf%l{ﬁ Eal
identity SIBEA
(C) Right to take direction from (C) ey 9 T o wA @
court Fferpr
(D) All of the above (D) SWIF
94,  What are the statutory powers of  94. IR & Gfafde wfdqar &8 ?
Trustees ? (A) =TT T @ Iy @1 afed
(A) Power in relation to the (B) faferarom # aRac &= @ Ifda
conduct sale of trust property (C) SWE (A) 3R (B)
(B) Power to vary investment (D) SWiE H | IS el
(C) Both (A) and (B)
(D) None of the above
95. What are the Rights of 95. faufedl & w1 RHR g ?
Beneficiary? (A) fovm@m ar oMy A P
(A) Right to rents and profit SIBEA
(B) Right to specific execution (B) fafme e o foer
(C) Right to put an end to the (C) I A B BT PR
trust (D) SWIF
(D) All of the above
96. What are the remedies open to 96. RN dI T H fEauiRA B Suder
beneficiary in case of breach of IR @7 E ?
trust ? (A) fFTT B A AN b 056G
(A) Relief against the trustee IfTRHR
personally (B) =< fafy IR BT PR
(B) Right to follow trust property (©) SR (A) i} (B)
(C) Both (A) and (B) (D) SR ¥ F P T2
(D) None of the above
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97.  Which of the following are 97. fHfaRed & 9 o9 Rg &
principle on which equitable relief JMUR W A aa?ﬁﬁ e fhar o
is granted ? Haar & ?

(A) He who comes to equity, (A) ST AT B IR S o & Sad
must come with clean hand :
, wWeg gell o ARy
(B) He who seeks equity must do
equity (B) W WM AEdl § SEdl AR
(C) Delay defeat equity AT MY
(D) All of the above (C) faera = @ wRIfSHT e &
(D) SWIa ol

98. What are the classification of  98.  WIWI% NI BT qUTBRYT R T ?
equitable remedies ? (A) o CLCIR tlﬁi{[f?a'
(A) Rectification of instruments _ _ _

(B) Rescission of contracts (B) it
(C) Both (A) and (B) (C) IWIE (A) IR (B)
(D) None of the above (D) IRIEd § F Blg T8l

99.  Which of the following relations 99. fHfaRad & | o dvaiG TR @

under fiduciary relations ? 3= 37T © ?

(A) Banker (A) daR

(B) Director of a company (B) BFF & SIERACY

(C) Joint family manager (C) WgT GHcH BT Taud
(D) All of the above (D) G‘Cm—cﬁ Q:pﬁ

100. Which of the following is a  100. f=foRed § ¥ fhde! dvaie w9 9

fiduciary allowed to do ? e ST AT & ?
(A) Make a profit from the trust (A) NI 9§ @M a9
(B) Actin good faith (B) Wg—favard ¥ o o
(C) Act for his own benefit (C) 39 o™ & fofy B HeeT
(D) Act for the benefit of third (D) R 9gHR & o™ B U
party &Rl
Xk
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